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Six people birthday Tarun ,Charu, Vishakha, Manika, Arun and Vijay likes Apple, 
Orange, Grapes, Cherry Mango and Banana but not necessary in the same order 
and are born the different year with the current base for the age calculation 
taken as 2018. Each of them is age is less than 90 years old. The last two digit or 
reverse of the last two digit of the year in which a person born can be the age of 
the other person (Like A  is born in 1943 and B’s age will be either 34 or 43) 
Tarun was born in a year 1983 .The difference between the age of Tarun and 
Charu is 21 years. Vishakha’s age  is the sum of the digit of the year in which year 
Charu was born. The one who like mango was like mango is 5 years elder to 
Vishakha .
Arun ages either the last two digit or reverse of the last two digit of the year in 
which the person who  like mango was born . Only one person is elder to the one 
Arun. Vishakha like apple. Only two persons elder to the one who like cherry . 
Vijay was 24 elder the one who like cherry. The one who like banana was born in 
an even year. The one who likes orange is younger to the one who likes grapes 
both in the odd number of years.
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छह लोग तरुण, चारू, विशाखा, मविका, अरुणऔर विजय ,सेब, िारंगी , अंगूर , चेरी, 
आमऔर केला पसंदकरते हैं, लेवकि एक ही क्रम में आिश्यकिही ंहैं और उिका

अलग -अलगसालका जन्म है | आयु गणिा िर्ष 2018 के संबंध में की जाती है । उिमें

से प्रते्यककी उम्र 90 िर्ष से कम है। िर्ष के अंवतम दो अंको ंका अंवतम दो अंक या उल्टा

वजसमें एकव्यक्तिका जन्म दूसरेव्यक्तिकीआयु हो सकती है (जैसे A का जन्म 1943 में
और B कीआयु या तो 34 या 43 होगी)
तरुणका जन्म एक िर्ष 1983 में हुआथा। तरुणऔर चारुकी उम्र में 21 िर्ष का अंतर
है। विशाखा कीआयु उस िर्ष के अंकका योग है वजसमें चारुका जन्महुआथा।आम

को पसंदकरिे िाला विशाखा से 5 साल बडा था।
अरुणकी उम्र या तो वपछले दो अंक या उस िर्ष के अंवतम दो अंको ंका उलटा करता है

वजसमें आमको पसंद करिे िाले व्यक्तिका जन्महुआथा। केिल एकव्यक्ति अरुण से

बडा है। विशाखा को सेब पसंद है । चेरी को पसंद करिे िाले से केिल दो व्यक्तिबडे है

। विजय 24 सालका था जो चेरी को पसंद करता था। केला पसंदकरिे िाले का जन्म
एकसम िर्ष में हुआथा। जो िारंगी पसंदकरता है िह अंगूर पसंद करिे िाले से छोटा

है, जो दोिो ंको जन्म विर्म िर्ों में है।
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Six people birthday Tarun ,Charu, Vishakha, Manika, Arun and Vijay likes 
Apple, Orange, Grapes, Cherry Mango and Banana but not necessary in 
the same order and are born the different year with the current base for 
the age calculation taken as 2018. Each of them is age is less than 90 
years old. The last two digit or reverse of the last two digit of the year in 
which a person born can be the age of the other person (Like A  is born 
in 1943 and B’s age will be either 34 or 43) 
Tarun was born in a year 1983 .The difference between the age of Tarun 
and Charu is 21 years. Vishakha’s age  is the sum of the digit of the year 
in which year  Charu was born. The one who like mango was like mango 
is 5 years elder to Vishakha .
Arun ages either the last two digit or reverse of the last two digit of the 
year in which the person who  like mango was born . Only one person is 
elder to the one Arun. Vishakha like apple. Only two persons elder to 
the one who like cherry . Vijay was 24 elder the one who like cherry. The 
one who like banana was born in an even year. The one who likes orange 
is younger to the one who likes grapes both in the odd number of years.
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Eight person AB C D E F G and H buy different fruits apple, pear, peach, plum 
,orange, mango ,kiwi and papaya but not necessarily in the same order. The weights 
of the fruits were 1kg, 2kg ,3kg, 4kg, 5kg , 6kg , 7kg, and 8kg but not necessarily in 
the same order. No two fruits has same weights. 
•The sum of the weights of the fruits D and F together is equal to the weight to the 
mangoes.
•Plum and the fruits bought by C together weight equal to the weight of the fruits 
bought by E.
•B’s weight of the fruits was twice the weight of the fruits bought by C.
•Apple weighted 3kg more than plum.
•E’s weight of the fruits was thrice the weight of the fruits bought by F.
•A’s weight of the fruits weighted less than the weight of the fruits  bought by C.
•H bought papaya .
•Mangoes did not weight 3kg.
•Peach weighted twice the weight of kiwi.
•Weight of pear and kiwi together was equal to the weight of papaya and orange.
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आठव्यक्ति A B C D E F G और H अलग-अलगफल सेब, िाशपाती, आडू, बेर, िारंगी, 
आम, कीिीऔर पपीता खरीदते हैं लेवकि जरूरी िही ं वक एक ही क्रम में हो।ं फलो ंका

िजि 1 वकग्रा, 2 वकग्रा, 3 वकग्रा, 4 वकग्रा, 5 वकग्रा, 6 वकग्रा, 7 वकग्रा, और 8 वकग्रा था
लेवकि जरूरी िही ं वक एक ही क्रम में हो। कोई भी दो फल एकसमाि िजि िही ंहोते

हैं।

•फल D और F के िजिका योग एकसाथआम के िजि के बराबर है।

•बेरऔर C द्वारा खरीदे गएफल के िजि एकसाथ E द्वारा खरीदे गएफल के िजि के

बराबर होते हैं।

•B के फलो ंका िजि C द्वारा खरीदे गएफलो ं के िजि से दोगुिा था।

•सेब का बेर से 3 वकलो अवधक िजि था।

•E के फलो ंका िजि F द्वारा खरीदे गएफलो ं के िजि से दोगुिा था।

•C द्वारा खरीदे गए फलों के िजिकी तुलिा में A के फलो ंका िजिकम होता है।

•H िे पपीता खरीदा।
•आमोंका िजि 3 वकलो िही ंथा।
•बेर का िजिकीिी के िजि से दोगुिा है।

•िाशपातीऔरकीिी का िजि एकसाथ पपीताऔर िारंगी के िजि के बराबर था।
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Eight person AB C D E F G and H buy different fruits apple, pear, peach, 
plum ,orange, mango ,kiwi and papaya but not necessarily in the same 
order. The weights of the fruits were 1kg, 2kg ,3kg, 4kg, 5kg , 6kg , 7kg, 
and 8kg but not necessarily in the same order. No two fruits has same 
weights. 
•The sum of the weights of the fruits D and F together is equal to the 
weight to the mangoes.
•Plum and the fruits bought by C together weight equal to the weight 
of the fruits bought by E.
•B’s weight of the fruits was twice the weight of the fruits bought by C.
•Apple weighted 3kg more than plum.
•E’s weight of the fruits was thrice the weight of the fruits bought by F.
•A’s weight of the fruits weighted less than the weight of the fruits  
bought by C.
•H bought papaya .
•Mangoes did not weight 3kg.
•Peach weighted twice the weight of kiwi.
•Weight of pear and kiwi together was equal to the weight of papaya 
and orange.


